SCIENCE

You have been given this question bookiet and a separate answer sheet. The quiestion booklet contains 56

* questions.

Do any newssary mugh work in tl’us book!et.
When you have chosen your answer, mark it.on ﬂle.;ANSWER SHEET, not in thc quemcﬂ booklet.
HOW TO USE THE ANSWER SHI&FT

Use an ordinary pencil.

5. Make surc that you have wrrlten on the answer. ﬁmet:

10.

1L
12.

YBUR INBEX MHPIBER
YﬂUR NAME
NAME OF YOUR SCHOOL

By drawing a dark line inside the comrect numbered boxes mark your full Index Number (i.e. S¢hookCode
Number and the three-figure Candidate’s Number) in the grid-near. ﬂwmp of the answer shect .

Do net makr. any marhg outside the boxes.
Keep ) vou:ansmrsi‘teet asc!ean aspmblﬁ and do ngt fold it.:

For each of the Questions | — 50, ibmanwcrsxng:wm Ihcwersarcfettemd;ﬂ., B, C and’D: In-each: -
case only ONE of the four answers is correct. ‘Choose the correet answer.

On the answer sheet the correct answer is to be sha;m by drawing a dark line inside the hcvx in which the
letter you have chosen is written.
Example

In the Question Booklet:

4. Which one of the following components of blood is involved in clotting after injury? -

A. Plasma.

B. White blood cells.
C. Red blood celis.
D. Platelets

The correct answer is.D) (Platelets)

On the answer sheet:
JNIB*CWB! INIB.ICllI-'uI miﬁnﬂi CiDT EPEFAUBIIC D mkAHB”CuDi
In the second set, the box with the letter D printed in it is marked.
Your dark line MUST be within the box.
For each question ONLY ONE box is to be marked.in each set of four boxes.

This question paper consists of 8 printed. pages

Cangidates should check the question paper to ensure that all
the pages.are printed as indicated and no questions are missing
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Which one of the following pairs of blood

- vessels carries blood from the lungs to the
~ heart and from the heart to the body

respectively?

A. Pulmonary vein and aorta.-

B. Venacava and aorta. -

C. Pulmonary artery and aorta. -
D. Aortaand venacava. -

During birth, the followmg pmedmes takc

place

i) The baby comes out through the vagina.

ii) The uterine wall contractions cause
labour pains.

iti) The amnion is broken and amniotic fluid
is released.

n.') The umbilical cord is tied and then cut.

Which of the fnllowmg are in thelr .

CORRECT order?
A. (i) (iii) (1)) (iv)
B. (i) (i) (iv) (1)
C. () (i) () (iv)
D. (iii) (i) (v) )

" A ship will fleat on water because of its.

size
shape

. material
. weight

cow»

Wherteedtiisin

A. the ribs move upwards and inwards.
B. the volume of the chest decreases.
C. pressure in the lungs decreases.

~D. The diaphragm gets dome-shaped

~Which one of the following shows the
CORRECT urine passage from the kidneys

duringexcretion? . .. .

A. Ureter —» bladder —» urethra

B. Urethra — bladder —» ureter
C. Bladder — ureter — urethra.
D. Bladder —» urethra — ureter

6.

- The illustration below is a windvane made
- from locally available materials

Tail

Which one of the following statements

about the instrument is INCORRECT?

A. It measures the direction of the wind.

B. Its arrowhead points to the direction
-where the wind is going to.

C. The arrowhead should be smaller lhan

- thetail.

D

. It should be placed far nWay !'rom tall .

buildings and trees.

Which one of the following vaccines is
administered at birth?

A. DPT =

B. BCG :

C. Antimeasles Sk

D. Antipolio

One of the following animals does NOY F have

mammary glands. Which one?
A. Whale

B. Dolphin
C. Shark

D. Seal

Which one of the following types of teeth is
NOT correctly matched with its function?

Types of tecth Function
A. |Canine cutting
B. |Incisor biting
C. |Pre-molar chewing
D. [Molar grinding
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e '__NOT show lnwrdependmfze among piants
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-——-——Watﬂr in the furtnel

4 [fthe two gmups were to Ieam ﬁ'om each-
* other, what common mistake did lhey
make? Theyused = -
A different shapes of collectmg Jars
. B. different sizesof funnels.
- C: different lypca_ofsmls _
.D.. same sizes ol cotton wool.

. “The bulb shown can rek ,__'-hcammmsf -
helawuby process R

D ¥ convectmn and radlatton

- ii) Befine mass
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D ‘None -~
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